3118.00.00.000-02 KZIC CB4/C-200.LB30-3,0 | 380 B, 50 ['w | 10 6ap
Karanor geraneii 1 cOOPOYHBIX €AMHHUIL
3
4
6 B 1
23
L2\ 20
20 14

22




3118.00.00.000-02 KZIC CB4/C-200.LB30-3,0 | 380 B, 50 ['w | 10 6ap
Karanor aeraneit 1 cCOOpOYHBIX €TMHUII
Io3. | Kop. Ne ueprexa HaumeHnoBanne Koa.

1. | 4042100300 Onekrpoasurarels, 3,0 kBT 1
2. | 3102.00.00.001 JHepxarenn 1
3. |4301104700 Pemenn A1180 1
4. | 3118.00.00.104 [ITkuB 1
5. | 3106.00.00.101 [prxum 1
6. [laii6a 10.65T 1
7. Bonr M8x35 4
8. Bonr M10x30 4
9. 11a#i6a 10 4
10. | 3001.00.00.000-01 Pecuep 1
11. | 4996110673 IIpeccoctatr MDR3 1
12. | 4251100202 Krnanan npegoxpaHuTeIbHBII 1
13.

14. | 3101.00.00.201 IepexoaHuK 1
15. | 3106.00.00.021 [lepexoaHuk 1
16. | 4283010002 Kouneco 1
17. | 4133200300 Perynsrop maBneHus 1
18.

19. | 4141301600 MaHowmeTp 1
20. | 3101.00.00.203 3arnmymka 2
21. l"aiika M8 8
22. [I1afi0a 8 16
23. bont M10x25 1
24. I11a#i6a 12 2
25. | 3040.00.00.048 3arnyiika 1
26. l"aiixa M6 1
27. [I1ati6a 6 2
28. 111aii6a 6, 65I" 1
29. | 4121001000 KonaeHncartooTBounk 1
30. | 4281020000 Kouneco 2
31. | 3101.00.10.003 [ITaii6a 2
32. | 3101.00.10.002 Bonr 2
33. laiika M 12 2
34. | 3118.00.00.300-01 BozayxonpoBos 1
35. | 4241122102 Krnaman oOpaTHbIit 1
36. [ITaii0a 8, 65T 8
37. | 4111324000 Kpan 1
38. Boar M8x45 4
39. | 4871401590 [IpoBoa 2
40.

41. | 4381003500 Ykazarenb 1
42. | 3125.00.00.103 Hepxarenn 1
43. | 4350010002 Pacniopka 1
44, | 4350020002 amenka 4
45. boat M6x16 5
46. [T1ati0a 6x18 5
47. | 3118.00.00.400 OcHoBaHue 1
48. | 3101.00.00.500 Kppimika 1
49. | 4490600000 Tpy6xka Rilsan 1
50. | 3102.00.00.101 [Tnargpopma 1
51. | 4022230010 brok nopuHeBoit 1




